
https://www.pass4itsure.com/hce-5420.html
2024 Latest pass4itsure HCE-5420 PDF and VCE dumps Download

 

 

 

HCE-5420Q&As

Hitachi Data Systems Certified Specialist - Content Platform

Pass Hitachi HCE-5420 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/hce-5420.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Hitachi
Official Exam Center

 

 

HCE-5420 VCE Dumps | HCE-5420 Practice Test | HCE-5420 Study Guide                                1 / 3

https://www.pass4itsure.com/hce-5420.html
https://www.pass4itsure.com/hce-5420.html
https://www.pass4itsure.com/hce-5420.html


https://www.pass4itsure.com/hce-5420.html
2024 Latest pass4itsure HCE-5420 PDF and VCE dumps Download

QUESTION 1

When connecting HCP nodes to the storage SAN fabric, which two approaches must be used? (Choose two.) 

A. Connect port 1 on each node in the HCP system to an even port on the fabric switch. 

B. Connect port 0 on each node in the HCP system to an even port on the fabric switch. 

C. Connect port 0 on each node in the HCP system to an odd port on the fabric switch. 

D. Connect port 1 on each node in the HCP system to an odd port on the fabric switch. 

Correct Answer: BD 

 

QUESTION 2

A company\\'s finance and legal departments do not share any data and should not be able to 

access each other\\'s data; The legal department only accesses data using an application that is integrated with HCP
using REST. The finance department requires users to be able to browse data using Windows Explorer. What do you
tell the customer? 

A. The finance department should be setup as the default namespace and the legal department should have their own
namespace. 

B. The finance and legal departments should use the default namespace. 

C. The finance department should have their own namespace and the legal department should use the default
namespace. 

D. The finance and legal departments should use different directories in a single namespace. 

Correct Answer: A 

 

QUESTION 3

A customer wants to integrate a HCP into their Windows Active Directory environment. They want to use Active
Directory for authentication of 27 users. Which two actions should be performed by the customer? (Choose two.) 

A. Upload a username mapping file to the HCP with associations for the required users. 

B. Create 27 users in the HCP with usernames identical to those used in the Active Directory. 

C. Configure the HCP to use Active Directory authentication. 

D. Create a security group in Active Directory then add the names of 27 desired users. 

Correct Answer: AC 
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QUESTION 4

A customer performed a search for an object that was recently added into the archive tenant being searched. The object
was not listed within the search results returned by the HCP search engine. Why did this happen? 

A. The DPL2 volume had not yet been mounted to the search node(s) for access. 

B. There was not sufficient time allowed for indexing the most recent data added to the archive. 

C. The attribute for the new data\\'s namespace was set to "hidden". 

D. The customer had not yet enabled DPL level two or above for the namespaces in this tenant. 

Correct Answer: B 

 

QUESTION 5

A customer wants to ingest around 1 million files residing in several Windows 2003 and RedHat Linux servers into three
newly created HCP tenants and namespaces. Which two procedures do you recommend? (Choose two.) 

A. Use copy, move and create directory functions available from HCP client tools for Linux. 

B. Use copy, move and create directory functions available from Linux server. 

C. Use copy, move and create directory functions available from HCP client tools for Windows. 

D. Use copy, move and create directory functions available from Windows server. 

Correct Answer: AC 
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